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Roll Number 

Correct Method              Wrong Method

   1	    2	    3	     4	                  1	      2	    3	     4		

Instructions To Candidates :
Read the following instructions before you answer 
the questions. Answers are to be given in a 
Separate OMR Answer Sheet provided 
inside this booklet. Break the seal and start 
answering the questions once asked to do so.
	 1.	P lease write your Roll Number very clearly 

(only one digit in one block) as given in your 
Admission Card.

	 2.	 You have to answer 100 questions in this 
test.

	 3.	 Select the most suitable answer for each 
question and completely darken the circle 
corresponding to the correct alternative as 
shown below.

	 4.	 All questions carry one mark each.
	 5.	 There is no negative mark. Every correct 

answer will be awarded one mark.
	 6.	 Do not write your name on any part of the 

question booklet or the answer sheet.
	 7.	 Rough Work can be done in the space 

provided at the end of this booklet.

kq}ƒL¡À]W¥¨Oç j]¡SÇw°¥ :

S\Lh|°¥ V̈ D¾qU IuOfL¢ fOa°OÐf]jO oOÒV 
fLRu RWLaO¾]q]¨OÐ j]¡SÇw°¥ yèÈU 
vLp]¨OW. D¾qU j¤SWºfV KqO NkSf|W 
D¾q¨asLy]¤ (OMR) BeV. j]¡SÇw¾]jOSwxU 
oLNfSo y}¤ fOr¨OvLjOU, D¾qU IuOfOvLjOU 
kLaOçP. 
	 1.	 j]°tORa SrL¥ jÒ¡ (KqO Wç]p]¤ KqO A¨U 

oLNfU) v|©oLp] j]°tORa NkSvwj kNf¾]¤ 
fÐ]q]¨OÐfO SkLRs IuOfOW.

	 2.	 100 S\Lh|°¥ V̈ D¾qRouOf]pL¤ of].
	 3.	 KLSqL S\Lh|¾]jOU D\]foLp D¾qU Rfq R´aO¾V 

wq]pLp D¾qR¾ yP\]Õ]̈ OÐ vQ¾U oLNfU fLRu 
RWLaO¾]q]̈ OÐ NkWLqU kP¡¹oLp] WrOÕ]̈ OW.

	
	 4.	 IsæL S\Lh|°¥ ÖU KqO oL¡ V̈ v}fU.
	 5.	 j|Pj oL¡ V̈ Csæ. KLSqL wq] D¾q¾]jOU KqO 

oL¡ V̈ v}fU sn]̈ OU.
	 6.	 j]°tORa SkqV S\Lh| kOñW¾]R£SpL D¾q 

äsLy]R£SpL KqO nLY¾OU IuOfOvL¢ kLa]sæ.   
	 7.	 rlV v¡ ]̈jO Svº] CT mÖ VRsã]R£ AvyLj 

nLYU DkSpLY]̈ LvOÐfLeV.   

   1	    2	    3	     4	              1	 2	     3	     4	
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There are 100 questions in all. For each 
question four alternative answers are given 
marked as (1), (2), (3), (4). From these, find 
the most appropriate answer. The number 
denoting this answer is there in the answer 
sheet against the question number concerned. 
Darken the  circle  with Blue/Black Ball Pen 
only. Record the answers thus in the OMR 
answer sheet only. Do not write anything in 
the question booklet except your Roll Number 
on the cover page and rough work in the 
space provided for the purpose

Directions (1 – 5) : In each of the following 
letter series, some of the letters are 
missing. Find the missing letters in proper 
sequence from the four alternatives 
given.

	 1.	 A_A_AABB_BBB_BBB

	 (1)	 BBBB	 (2)	 AABB

	 (3)	 BBAA	 (4)	 ABAB

	 2.	 _prq_p_rqr_pr_r

	 (1)	 ppppr	 (2)	 prrpq

	 (3)	 prrrq	 (4)	 prppq

	 3.	 a_ccb_a_c_ba_bc

	 (1)	 abaca	 (2)	 babca

	 (3)	 abbab	 (4)	 aabbc

	 4.	 nm_mm_nm_mm_n_m

	 (1)	 mnnmn	 (2)	 mmnnn

	 (3)	 mnmnm	 (4)	 nnmnn

	BRW 100  S\Lh|°¥ DºV. KLSqL S\Lh|¾]jOU 
(1), (2), (3), (4) IÐV AapLtRÕaO¾]p jLsV 
v|f|ñ D¾qU v}fU RWLaO¾]ŸOºV. Avp]¤ 
wq]pLpSfL JãvOU AjOSpL^|oLpSfL 
Bp D¾qU WºOk]a]¨OW. CT D¾qR¾ 
WOr]¨OÐ jÒ¡ D¾q¨asLy]¤ AfLfV  
S\Lh|¾]Rjf]Rq DºV. vQ¾U j}s ARsæË]¤ 
WrOÕ V  ox]pOç mL¥ Rk¢ DkSpL 
Y]\ÿV  WrOÕ]¨OW. D¾q°¥ ANkWLqU OMR 
D¾q¨asLy]¤ oLNfU SqXRÕaO¾OW. S\
Lh|°ta°]p mO¨]R£ Wvr]SÓ¤ j]°tORa 
SrL¥ jÒqOU, rlV v¡¨]jO Svº] fÐ]
ŸOç òs¾V ja¾OÐ WOr]ÕOW¥ Ku]RW 
oRãLÐOU IuOfqOfV.	

j]¡SÇw°¥ : S\Lh|°¥ (1-5) fLRu fÐ]
q]¨OÐ S\Lh|°¥ Aƒq Sèe]Rp 
Aa]òLjRÕaO¾]pOçfLeV. KLSqL Cj 
¾]sOU JfLjOU Aƒq°¥ v]ŸOSkLp]
ŸOºV. fÐ]ŸOç jLsV D¾q yP\W°t]¤  
j]ÐOU v]ŸO SkLp Aƒq°¥ wq]pLp 
NWo¾]sOçfV WºOk]a]¨OW.

	 1.	 A_A_AABB_BBB_BBB

	 (1)	 BBBB	 (2)	 AABB

	 (3)	 BBAA	 (4)	 ABAB

	 2.	 _prq_p_rqr_pr_r

	 (1)	 ppppr	 (2)	 prrpq

	 (3)	 prrrq	 (4)	 prppq

	 3.	 a_ccb_a_c_ba_bc

	 (1)	 abaca	 (2)	 babca

	 (3)	 abbab	 (4)	 aabbc

	 4.	 nm_mm_nm_mm_n_m

	 (1)	 mnnmn	 (2)	 mmnnn

	 (3)	 mnmnm	 (4)	 nnmnn
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	 5.	 In a certain code language the 
word numerical is written as 
lmuireacn. How will the word 
factorise be written ?	

	 (1)	 erocatisf

	 (2)	 ecarotsif

	 (3)	 eacritosf

	 (4)	 ESOCRAITF

	 6.	W hich of the following will get, when 
the word ‘labour’ is written again 
by substituting each vowel with 
the third letter following it in the 
English alphabet and substituting 
each consonant with the immediate 
vowel following it ?

	 (1)	 OLERWU

	 (2)	 udeswu

	 (3)	 NEESXU

	 (4)	 oderxu

Directions (7 – 8) : In a certain coding system
“hafcba” means “the white cat frightened 
the mouse”
“fdhea” means “the frightened mouse ran 
away”
“gfba” means “the mouse was white”
“cda” means “the cat ran” 

	 7.	W hat is the code for “ the cat was 
frightened “ ?”

	 (1)	 hbfc

	 (2)	 hgca

	 (3)	 edch

	 (4)	 hafc

	 5.	 KqO NkSf|W SWLcOnLxp]¤ 
Numerical IÐ vL¨]Rj 
LMuireacn IÐV IuOf]pL¤ 
Factorise IÐ vL ]̈Rj 
I°Rj IuOfLU ?

	 (1)	 erocatisf

	 (2)	 ecarotsif

	 (3)	 eacritosf

	 (4)	 ESOCRAITF

	 6.	 Labour IÐ vL¨]Rs y~qL 
ƒ q ° ¥ ¨ V k W q U C U Y æ } x V   
AƒqoLsp]¤ Af]Rj k]¢ 
fOa¡ÐV vqOÐ oPÐLoR¾  
AƒqU RWLºOU v|³jLƒq 
°Rt Af]Rj k]¢fOa¡ÐO 
vqOÐ y~qLƒqU RWLºOU oLã] 
IuOf]pL¤ W]ŸOÐ vL V̈ JfV ?

	 (1)	 OLERWU

	 (2)	 udeswu

	 (3)	 NEESXU

	 (4)	 oderxu

j]¡SÇw°¥ :  (7– 8) KqO NkSf|W SWLcO 
nLxp]¤
	“hafcba”  IÐfV  “the white cat frightened 
the mouse”
	“fdhea”  IÐfV  “the frightened the 
mouse ran away”
	“gfba”  IÐfV  “the mouse was white”

	“cda”  IÐfV  “the cat ran”

	 7.		 “the cat was frightened” IÐf]R£ 
SWLcV IÍLeV ?

	 (1)	 hbfc

	 (2)	 hgca

	 (3)	 edch

	 (4)	 hafc
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	 8.	W hat is the code for “away” ?
	 (1)	 e
	 (2)	 d
	 (3)	 f
	 (4)	 h

	 9.	 Some words with jumbled letters are 
given below. Find the word which 
does not suit the group.

	 (1)	 euobls

	 (2)	 krtis

	 (3)	 reatews

	 (4)	 hsirt

	 10.	W hich of the following words cannot 
be formed from the letters of the 
word ‘perpendicular’ 

	 (1)	 pencil

	 (2)	 independence

	 (3)	 eradicate

	 (4)	 circular

Directions (11 – 14) : Which of the 
following numbers should occupy the 
position of ‘?’

	 11.		

		

	 (1)	 25

	 (2)	 14

	 (3)	 27

	 (4)	 9

	 8.	 “away” IÐf]R£ SWLcV 	IÍLeV ?
	 (1)	 e
	 (2)	 d
	 (3)	 f
	 (4)	 h

	 9.	 fLRufÐ]q]¨OÐ S\Lh|¾]Rs 
vL¨OWt]Rs Aƒq°¥ NWoU 
oLã] IuOf]p]q]¨OÐO. WPŸ¾]¤ 
RkaL¾ vL¨V WRº¾OW.

	 (1)	 euobls

	 (2)	 krtis

	 (3)	 reatews

	 (4)	 hsirt

	 10.	 ‘Perpendicular’ IÐ vL¨]
Rs Aƒq°¥ DkSpLY]\ÿ V 
IuOfL¢ Wu]pL¾ vL V̈ JfV ?

	 (1)	PEN CIL

	 (2)	 INDEPENDENCE

	 (3)	E RADICATE

	 (4)	 CIRCULAR

j]¡SÇw°¥ :  (11-14) \]ø¾]R£ 
òLj¾O SpL^]¨OÐ yUX| JfV ?

	 11.		

		

	 (1)	 25

	 (2)	 14

	 (3)	 27

	 (4)	 9
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	 12.	

	 (1)	 4

	 (2)	 1

	 (3)	 3

	 (4)	 5

	 13.	

	 (1)	 189

	 (2)	 179

	 (3)	 159

	 (4)	 229

	 14.	 If 42 × 7 + 5 = 30, 5 + 63 × 9 = 35 
then 56 × 8 + 4 = ?

	 (1)	 28

	 (2)	 44

	 (3)	 36

	 (4)	 42

Directions (15 – 17) : In each of the four 
groups of letters, one is different from the 
others. Find the odd one.	

	 15.	 (1)	 abtu	 (2)	 rqst

		  (3)	 ijso	 (4)	 yxef

	 16.	 (1)	 aku	 (2)	 cmw

		  (3)	 dis	 (4)	 eoy

	 12.	

	 (1)	 4

	 (2)	 1

	 (3)	 3

	 (4)	 5

	 13.	

	 (1)	 189

	 (2)	 179

	 (3)	 159

	 (4)	 229

	 14.	 42 � 7 + 5 = 30, DU 5 + 63 � 9 = 35 
DU BpL¤ 56 � 8 + 4 = ?

	 (1)	 28

	 (2)	 44

	 (3)	 36

	 (4)	 42

j]¡SÇw°¥  :   (15–17 )  jLsO 
vL¨OWtORa W PŸ¾]¤ KRq¹U 
oãOçvp]¤ j]ÐOU v|f|ñoLeV. 
WPŸ¾]¤ RkaL¾fV JfV ?

	 15.	 (1)	 abtu	 (2)	 rqst

		  (3)	 ijso	 (4)	 yxef

	 16.	 (1)	 aku	 (2)	 cmw

		  (3)	 dis	 (4)	 eoy
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	 17.	 (1)	 vwuz	 (2)	 ehfg

		  (3)	 adbc	 (4)	 pnom

	 18.	 Find the odd one

	 (1)	 368047	 (2)	 640837

	 (3)	 809467	 (4)	 304867

	 19.	 In a certain code language 63728 is 

written as 56483. Which number is 

represented by the code 34342 ?

	 (1)	 45187	 (2)	 42617

	 (3)	 41312	 (4)	 45528

Directions (20 – 22) : There is a relationship 
between the two terms to the left of : : Find 
the pair for ‘?’ from the four alternatives which 
holds the same relationship.

	 20.	W riter : Book : : ?

	 (1)	P oem : Poet

	 (2)	 Building : Architect

	 (3)	 Composer : Song

	 (4)	 Chair : Carpenter

	 21.	 Scales : Fish : : ? 

	 (1)	 Trees : : Leaves

	 (2)	 Skin : Man

	 (3)	 Bird : Feather

	 (4)	L ady : Dress

	 22. 	P aper : Wood : : ?

	 (1)	 Cloth : Dresses

	 (2)	 Brush : Paint

	 (3)	 Ink : Colour

	 (4)	 Brick : Clay

	 17.	 (1)	 vwuz	 (2)	 ehfg

		  (3)	 adbc	 (4)	 pnom

	 18.	 WPŸ¾]¤ RkaL¾fV JfV ?

	 (1)	 368047	 (2)	 640837

	 (3)	 809467	 (4)	 304867

	 19.	 KqO NkSf|W SWLcOnLxp]¤ 63728 
IÐf]Rj 56483 IÐV IuOf]
pL¤ 34342 IÐ SWLc]Rj Nkf]
j]i}Wq]¨OÐ yUX| JfV ?

	 (1)	 45187	 (2)	 42617

	 (3)	 41312	 (4)	 45528

j]¡SÇw°¥ : (20 – 22) fLRu fÐ]q] 
¨OÐ S\Lh|°t]¤ :: \]ø¾]jV CafO 
vw¾Oç qºO vL¨OW¥ fÚ]¤ KqO 
mÌoOºV. CT mÌU ojô]sL¨]p 
SwxU ‘?’ \]ø¾]jV AjOSpL^|oLp 
"S^Lc]' WRº¾OW.

	 20.	 IuO¾OWLq¢ : kOñWU :: ? 
	 (1)	 kh|U : Wv]
	 (2)	 RWŸ]aU :: vLñOw]s×]
	 (3)	 q\p]fLvV : YLjU
	 (4)	 WSyq : BwLq]

	 21.	 R\fOÒ¤ : o}¢ : : ?
	 (1)	 oq°¥ : CsW¥
	 (2)	 RfLs] : ojOx|¢
	 (3)	 kƒ] : fPv¤
	 (4)	 vj]f : vNñU

	 22.	 SkÕ¡ : fa] : : ?
	 (1)	 fOe] : vNñ°¥
	 (2)	 NmxV : \LpU
	 (3)	 ox] : j]rU

	 (4)	 \OaOWsæV : Wt]o¹V
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Directions (23 – 26) : Which term will replace 
the question mark (?) in the given series ?

	 23.	 93, 100, 114, 135, 163, ?

	 (1)	 198	 (2)	 195

	 (3)	 196	 (4)	 192

	 24.	 12, 13, 17, 26, 42, 67, ?

	 (1)	 101	 (2)	 103

	 (3)	 97	 (4)	 107

	 25.	 tm7, yp42, ct79, ?

	 (1)	EW 112	 (2)	 DX110

	 (3)	 FY118	 (4)	 BY113

	 26.	 M2B, Q3E, T7G, X13J, ? 

	 (1)	 B21M	 (2)	 A27L

	 (3)	 D18K	 (4)	 Y20K

Directions (27 – 29) : Find the number which 
does not fit in the group.

	 27.	 7, 13, 18, 24, 29, 36, 40

	 (1)	 18	 (2)	 24

	 (3)	 36	 (4)	 40

	 28.	 35, 37, 41, 47, 65, 97

	 (1)	 35	 (2)	 47

	 (3)	 55	 (4)	 37

	 29.	 3, 4, 7, 9, 14, 19, 21, 39

	 (1)	 7	 (2)	 14

	 (3)	 19	 (4)	 21

-6-

j]¡SÇw°¥ :  (23 – 26) fÐ]q]¨OÐ 
Sèe]p]¤ S\Lh|\]ø¾]jV kWqU 
vqOÐfV JfV ?

	 23.	 93, 100, 114, 135, 163, ?

	 (1)	 198	 (2)	 195

	 (3)	 196	 (4)	 192

	 24.	 12, 13, 17, 26, 42, 67, ?

	 (1)	 101	 (2)	 103

	 (3)	 97	 (4)	 107

	 25.	 tm7, yp42, ct79, ?

	 (1)	EW 112	 (2)	 DX110

	 (3)	 FY118	 (4)	 BY113

	 26.	 M2B, Q3E, T7G, X13J, ? 

	 (1)	 B21M	 (2)	 A27L

	 (3)	 D18K	 (4)	 Y20K

j]¡SÇw°¥ : (27–29) WPŸ¾]¤ 
RkaL¾ yUX| JRfÐV WRº 
¾OW

	 27.	 7, 13, 18, 24, 29, 36, 40

	 (1)	 18	 (2)	 24

	 (3)	 36	 (4)	 40

	 28.	 35, 37, 41, 47, 65, 97

	 (1)	 35	 (2)	 47

	 (3)	 55	 (4)	 37

	 29.	 3, 4, 7, 9, 14, 19, 21, 39

	 (1)	 7	 (2)	 14

	 (3)	 19	 (4)	 21
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Directions (30 – 31) : In each of the following 

questions insert the right sign to get the 

required results.

	 30.	 18 _ 3 _ 6 _ 5 = 36

	 (1)	 – , +, ×

	 (2)	 ÷, +, ×

	 (3)	 ÷, ×, + 

	 (4)	 –, ×, +

	 31.	 13 _ 4 _ 2 _ 7 = 12 

	 (1)	 +, –, ÷ 

	 (2)	 –, ×, + 

	 (3)	 +, ×, – 

	 (4)	 +, ×, ÷

	 32.	 Find the number suitable for ‘?’ if the 
two numbers on the left of ‘: :’ obey a 
certain relation in 5 : 50 : : ? : 162

	 (1)	 9	 (2)	 8

	 (3)	 11	 (4)	 7

	 33.	 The independence day of India was 
celebrated on Friday in 2014. On 
which day will it be celebrated in 
2022 ?

	 (1)	W ednesday

	 (2)	 Monday

	 (3)	 Friday

	 (4)	 Saturday

-7-

	j]¡SÇw°¥:(30–31) fLRu fÐ]
q ] ¨ O Ð  K L S q L  S \ L h | ¾ ] s O U 
B v w | R Õ Ÿ ] q ] ¨ O Ð  D ¾ q U 
sn]¨OÐf]jLp] S\¡S¨º wq]pLp 
\]ø°¥ JfV ? 

	 30.	 18 _ 3 _ 6 _ 5 = 36

	 (1)	 –, +, ×

	 (2)	 ÷, +, ×

	 (3)	 ÷, ×, + 

	 (4)	 –, ×, +

	 31.	 13 _ 4 _ 2 _ 7 = 12 

	 (1)	 +, –, ÷ 

	 (2)	 –, ×, + 

	 (3)	 +, ×, –

 	 (4)	 +, ×, ÷

	 32.	 5 : 50 :: ? : 162, BpL¤ ‘: :’ IÐ 
\]ø¾]R£ CafO vw¾Oç 
qºO yUX|W¥¨]ap]sOç ASf 
mÌU kLs]¨¾¨ v]i¾]¤ 
S\Lh|\]ø¾]jO SpL^]¨OÐ 
yUX| JfV ? 

	 (1)	 9	 (2)	 8

	 (3)	 11	 (4)	 7

	 33.	 CÍ|pORa y~LfNÍh]jU 2014 ¤ 
Rvç]pLuV\ BSZLx]\ÿO. IË]¤ 
2022 ¤ y~LfNÍh]jU JfV h]vyU 
BSZLx]¨OU ?

	 (1)	 mOijLuV\

	 (2)	 f]ËtLuV\

	 (3)	 Rvç]pLuV\

	 (4)	 wj]pLuV\
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	 34.	P rakash starts walking towards 
the south. After walking 20 metres, 
he turns towards the north. After 
walking 25 metres, he turns towards 
the east and walks 15 metres. He 
then turns south and walks 5 metres. 
How far is he from his original 
position and in which direction ?

	 (1)	 15 metres North, East

	 (2)	 15 metres South, East

	 (3)	 15 metres, East

	 (4)	 15 metres, West

	 35.	 Find the order in which the following 
words are arranged in a dictionary ?

	 a)	 transplant

	 b)	 translate

	 c)	 transmission

	 d)	 transform

	 e)	 transistor

	 (1)	 dbeca

	 (2)	 debca

	 (3)	 ebdca

	 (4)	 cdbea

	 36.	H ow many such pairs of letters are 
there in the word computers 
which have as many letters between 
them as in the English alphabet ?

	 (1)	 6

	 (2)	 4

	 (3)	 5

	 (4)	 3

-8-

	 34.	 NkWLwV Rf V̈ nLYS¾ V̈ ja¨OÐO. 
20 o}ã¡ jaÐf]jO SwxU ApL¥ 
va¨OnLYS¾¨V f]q ]pOÐO.  
v}ºOU 25 o}ã¡ jaÐf]jO SwxU  
W]uS¨LŸ V  f ]q ]´V 15 o}ã¡ 
ja¨OÐO.  v}ºOU RfS¨LŸ V  
f]q]´V 5 o}ã¡ ja¨OÐO. IË]¤ 
NkWLwV kOrRÕŸ òs¾V j]ÐOU 
IÍV AWs¾]¤ JfV h]wp]sLeV ? 

	 (1)	 15 o}ã¡ va¨V W]u¨V 

	 (2)	 15 o}ã¡ Rf¨V W]u¨V

	 (3)	 15 o}ã¡ W]u¨V

	 (4)	 15 o}ã¡ ka]´LrV

	 35.	 KqO c]ƒer]p]¤ fLRu¾Ð]
q]¨OÐ vL¨OW¥ JfV NWo¾]
sLp]q]¨OU ? 

	 a)	 transplant
	 b)	 translate
	 c)	 transmission
	 d)	 transform
	 e)	 transistor
	 (1)	 dbeca
	 (2)	 debca
	 (3)	 ebdca
	 (4)	 cdbea

	 36.	 Computers IÐ kh¾]Rs Aƒq 
°tORa CaàV CUYæ}xV AƒqoLs 
p]Rs NWoU kLs]¨¾¨ q}f]p]¤ 
INf S^Lc] Aƒq°¥ DºV ? 

	 (1)	 6

	 (2)	 4

	 (3)	 5

	 (4)	 3
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	 37.	 Ajay borrowed Rs. 200 from Ganesh. 
Sanju borrowed Rs. 100 from 
Ajay and gave Rs. 50 to Ganesh.  
Rs. 350 was stolen from Ganesh 
and he was left with no money. 
How much money did Ganesh have 
initially ?

	 (1)	 450	 (2)	 300

	 (3)	 500	 (4)	 250

	 38.	 In a group of people, 50% people 
read newspaper A and 1/5 of the 
rest read newspaper other than B. 
Which figure out of the following 
will best depict the people who read 
newspaper B ?

		

               (a)	         (b)          (c)           (d)

	 (1)	 d	 (2)	 a

	 (3)	 b	 (4)	 c

	 39.	 A – B means B is the son of A,  
A × B means A is the brother of  B, 
A ÷ B means B is the sister of A and 
A + B means A is the mother of B. 
Which of the following is definitely 
true about r × s – Q ÷ P ?

	 (1)	 S is the mother of P and Q

	 (2)	P  is the daughter of S and is the 
niece of R

	 (3)	Q  is the uncle of S’s brother R

	 (4)	 S is the father of Q and P
-9-

	 37.	 YSex]R£ RRWá]¤ j]ÐOU A^pV 
200 qPk vL°OÐO. yÆO A^ppORa 
k¨¤ j]ÐOU 100 qPk vL°]p SwxU 
50 qPk YSex]jO RWLaO¨OÐO. 
YSex]R£ RRWvwU Dç 350 
qPk jìRÕŸf]jL¤ ApLtORa 
RRWvwU CSÕL¥ keRoLÐOU 
AvSwx]¨OÐ]sæ IË]¤ Bh|U 
YSex]R£ RRWvwU INf qPk 
DºLp]qOÐO ? 

	 (1)	 450	 (2)	 300
	 (3)	 500	 (4)	 250

	 38.	 KqO NYPÕ]¤ 50%  BtOW¥ j|PyV 
SkÕ¡ A vLp]¨OÐO. mL¨]
pOçvq]¤ 1/5 nLYU j|PyV SkÕ¡ 
B Ku]\ÿOçv vLp]¨OÐO.  IË]¤ 
j|PyVSkÕ¡ B vLp]¨OÐvRq 
yP\]Õ]¨OÐ wq]pLp \]NfU 
fLRufÐ]q]¨OÐvp]¤ JfV ? 

		

              (a)	           (b)          (c)           (d)	

	 (1)	 d	 (2)	 a

	 (3)	 b	 (4)	 c

	 39.	 ‘A – B’ IÐL¤ B, ApORa oWjLeV.  
‘A × B’ IÐL¤ A, B pORa ySzLh 
qjLeV. ‘A ÷ B’ IÐL¤ B, A pORa 
ySzLhq]pLeV. ‘A + B’  IÐL¤ A, B 
pORa AÚpLeV. IË]¤ ‘R × S – Q  ÷ P’ 
IÐf]Rj yUmÌ]\ÿV wq]pLpSffV ?

	 (1)	P , Q IÐ]vqORa AÚpLeV S
	 (2)	P , S R£ oWtOU  R R£ AjÍ]	

qvtOoLeV
	 (3)	Q , S R£ ySzLhqjLp R R£ 

AÚLvjLeV
	 (4)	 S, Q v]R£pOU P pORapOU 

A±jLeV
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	 40. 	 kiran and Sanju  practice swimming. 

Kiran practises in the morning and 

noon on the alternate day starting 

from Monday. Sanju practises in the 

morning on Tuesday and Thursday 

and in the noon on Saturday and 

Sunday. On how many days in a 

particular month of 30 days starting 

on Tuesday, Kiran and Sanju would 

meet each other ?	

	 (1)	 2

	 (2)	 4

	 (3)	 5

	 (4)	N one of these

	 41.	 In a row of girls Shoba and Geetha 

occupy 9th place from the right end 

and 10th place from the left end 

respectively. If they interchange their 

places, Shoba and Geetha occupy 

17th place from the right and 18th place 

from the left  respectively. How many 

girls are there in the row ?

	 (1)	 26

	 (2)	 25

	 (3)	 27

	 (4)	 28

	 40.	 W]qeOU yÆOvOU j}Í¤ kq]

w}s]¨OÐO. f]ËtLuV\ fOa°] 

KÐ]av]Ÿ Oç h ]vy°t]¤ 

qLv]RspOU D\ÿàOU W]q¦ kq]

w}s]¨OÐO. yÆO, R\LvÿLuV\

pOU v|LuLuV\pOU qLv]RspOU 

wj]pLuV\pOU `LprLuV\pOU  

D\ÿàOU kq]w}s]̈ OÐO. R\LvÿLuV\  

BqUn]¨OÐ 30 h]vy°tOç 

KqO oLy¾]¤ W]qeOU yÆOvOU 

INf NkLvw|U WºOoOŸOU ?

	 (1)	 2

	 (2)	 4

	 (3)	 5

	 (4)	 CvRpLÐOosæ

	 41.	 KqO vq]p]¤ SwLnpOU Y}fpOU 
pgLNWoU vsfO vw¾O j]ÐOU 
K¢kfLofOU  CafO  vw¾O  
j]ÐOU k¾LofOU BeV. AvqORa 
òLj°¥ kqy×qU oLr]pL¤ 
SwLnpOU  Y}fpOU  pgLNWoU 
v s f O v w ¾ O  j ] Ð O U  k f ]
SjuLofOU CafO vw¾O j]ÐOU 
kf]RjŸLofOU BeV. IË]¤ B 
vq]Wt]¤ INf Rk¦WOŸ]W¥ 
DºV ?

	 (1)	 26

	 (2)	 25

	 (3)	 27

	 (4)	 28
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	 	 		 	 42.	 A student got thrice as many sums 

right as he got wrong. He got three 

marks for each correct answer and 

one mark was deducted for each 

wrong answer. He got 72 marks in 

all, how many sums did he solve 

correctly ?

	 (1)	 27

	 (2)	 36

	 (3)	 35

	 (4)	 32

	 43.	 A paper of rectangular shape is cut 

into two halves. The two pieces are 

put together one above the other 

and again cut into halves. How 

many pieces will be there after 9 

cuttings ?

	 (1)	 256	 (2)	 512

	 (3)	 258	 (4)	 1024

	 44.	W hen Amit was born his father was 

29 years older than his brother and 

his mother was 22 years older than 

his sister. If Amit brother is 5 years 

older than him and his mother is  

4 years younger than his father, 

how old was Amit’s sister when he 

was born ?

	 (1)	 10	 (2)	 7

	 (3)	 9	 (4)	 8

	 42.	 KqO WOŸ]¨V RfãLp] D¾qU 
sn]¨OÐf]R£ oPÐV oa°V wq]
pO¾qU sn]¨OÐO. KLSqL wq]
pO¾q¾]jOU oPÐV  oL¡¨V 
sn]¨OSÒL¥ KLSqL RfãLp 
D ¾ q ° ¥ ¨ V  K q O  o L ¡ ¨ V 
jìRÕa OÐO.  AvjV BRW 
72 oL¡¨V sn]\ÿO IË]¤ wq]
pLp] D¾qU WRº¾]p S\Lh| 
°tORa I¹U INf ?

	 (1)	 27

	 (2)	 36

	 (3)	 35

	 (4)	 32

	 43.	 \fOqLWQf]p]sOç KqO SkÕ¡ 
WxeU qºV fOs| nLY°tLp] 
oOr]¨OÐO. qºV Wxe°tOU 
KqOo]\ÿV S\¡¾Ov\ÿf]jO SwxU 
v}ºOU qºLp] oOr]¨OÐO. 
C°Rj K¢kfLoR¾ NkLvw|U 
oOr ]\ ÿ O  Wu]pOSÒL¥ INf 
Wxe°¥ sn]¨OU.

	 (1)	 256	 (2)	 512

	 (3)	 258	 (4)	 1024

	 44.	 Ao]fV ^j]\ÿ yop¾V AvR£ 
A±jV AvR£ ySzLhqSj¨LtOU 
29 vpôO WPa OfsOU  AÚàV 
AvR£ ySzLhq]Sp¨LtOU 22 
vpôO WPaOfsOoLp]qOÐO. Ao]
f]R£ ySzLhqjV AvSj¨L¥ 
5  vpôV  WPa OfsOU  AvR£ 
AÚàV A±Sj¨L¥ 4 vpôV 
WOrvOoLReË]¤ Ao]fV ^j]\ÿ 
yop¾V AvR£ ySzLhq]pORa 
vpRôNf ?

	 (1)	 10	 (2)	 7

	 (3)	 9	 (4)	 8
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	 45.	 If the perimeter of a square and a 
rectangle is equal to 80 cms each 
and difference of their areas is  
100 sq. cms, length of the sides of 
the rectangle are

	 (1)	 35 cm, 15 cm

	 (2)	 28 cm, 12 cm

	 (3)	 30 cm, 10 cm

	 (4)	 26 cm, 14 cm

	 46.	 ‘Doctor’ relates to ‘Patient’ in the 
same way as ‘Lawyer’ relates to

	 (1)	 Accused

	 (2)	 Magistrate

	 (3)	 Customer

	 (4)	 Client	

	 47.	 In a certain code dark is written as 
11-5-39-25. How will the word nose 
be written in that language ?  

	 (1)	 31-33-41-13

	 (2)	 32-35-37-15

	 (3)	 28-30-38-10

	 (4)	 28-33-36-12

	 48.	 If ‘book’ is called ‘newspaper’, 

‘newspaper’ is called ‘dictionary’, 

‘dictionary’ is called ‘directory’, 

directory is called ‘magazine’, 

‘magazine’ is called ‘computer’ 

which of the following is needed to 

find a telephone number ?

	 (1)	 directory	 (2)	 magazine

	 (3)	 computer	 (4)	 dictionary

	 45.	 KqO yo\fOq¾]R£pOU \fOq 
¾]R£pOU \OãtvV 80 Ry£]o}ã¡  
v}fvOU, v]ñ}¡¹¾]R£ v|f|LyU 
100 \fOè Ry£}o}ãrOU BpL¤ 
\fOq¾]R£ vw°tORa j}tU 
JfV ?

	 (1)	 35 cm, 15 cm

	 (2)	 28 cm, 12 cm

	 (3)	 30 cm, 10 cm

	 (4)	 26 cm, 14 cm

	 46.	 ScLW›¡ mÌRÕŸ]q]¨OÐfV 
SqLY]pOoLp]ŸLReË]¤ v¨}¤ 
mÌRÕŸ]q]¨OÐfV 

	 (1)	 WOãvLt]
	 (2)	 j|LpLi]k¢
	 (3)	 DkSnL©LvV
	 (4)	 Wƒ]

	 47.	 KqO NkSf|W SWLcO nLxp]¤ 
Dark IÐ vL¨]Rj 11-5-39-25 
IRÐuOfLU IË]¤ Nose IÐ 
vL¨]R£ SWLcV IÍV ?

	 (1)	 31-33-41-13
	 (2)	 32-35-37-15
	 (3)	 28-30-38-10
	 (4)	 28-33-36-12

	 48.	 mO¨]Rj "j|PyV SkÕ¡' IÐOU 
j|PyV SkÕr]Rj "c]ƒer]' 
IÐOU c]ƒer]Rp "cprW›r]' 
IÐOU cprW›r]Rp "oLYy]¢' 
IÐOU oLYy]Rj "WUk|PŸ¡' 
IÐOU v]t]\ÿL¤ KqO Ras]
SlL¦ jÒ¡ WºOk]a]¨L¢ 
Bvw|oOç yLijU JfV ?

	 (1)	 cprW›r]	 (2)	 oLYy]¢

	 (3)	 WÒ|PŸ¡	 (4)	 c]ƒer]
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j]¡SÇw°¥  : (49  –  50 )\OvRa 
fÐ]q ]¨OÐ S\Lh|¾]¤ qºO 
NkñLvjWtOU fOa¡ÐV I, II, III, IV 
IÐ]°Rj jÒ¡ j¤W]p]ŸOç jLsV 
j]Yoj°tOoOºV. NkñLvjWRt pO©]
pO©oLp] k]¢fOaqOÐ j]YojU 
JRfÐO WRº¾OW.
	 49.	 NkñLvj :
		  IsæL j¡¾WqOU YLpWqLeV 
		  KqO YLpWjOU WsLWLqjsæ
	 	 j]Yoj°¥ :
	 I)	 KqO j¡¾WjOU WsLWLqjsæ
	 II)	 IsæL YLpWqOU WsLWLq 

ÓLqLeV
	 III)	 \]s WsLWLqÓL¡ YLpWqLeV 
	 IV)	 \]s YLpW¡ WsLWLqÓLqLeV
	 (1)	 II oLNfU k]¢fOaqOÐO
	 (2)	 IV oLNfU k]¢fOaqOÐO
	 (3)	 I oLNfU k]¢fOaqOÐO
	 (4)	 II DU III DU k]¢fOaqOÐO

	 50.	 NkñLvj : 
IsæL Is]WtOU kP\ÿWtLeV

		  IsæL kP\ÿWtOU kŸ]WtLeV	
		  j]Yoj°¥ :
	 I)	 \]s kŸ]W¥ Is]WtLeV.
	 II)	 IsæL Is]WtOU kŸ]WtLeV.
	 III)	 KqO kP\ÿpOU kŸ]psæ.
	 IV)	 \]s kŸ]W¥ kP\ÿWtLeV.
	 (1)	 III DU IV DU k]¢fOaqOÐO
	 (2)	 IV oLNfU k]¢fOaqOÐO
	 (3)	 II, III, IV IÐ]v k]¢fOaqOÐO
	 (4)	 I, II, IV IÐ]v k]¢fOaqOÐO

	 51.	 ‘GEJDPSNQ’IÐ kh¾]R£ 
h¡Õe Nkf]m]UmU JfV ?

	 (1)	
	 (2)	
	 (3)	

	 (4)	

Directions (49 – 50) : In the question given 
below, there are 2 statements followed by 4 
conclusions numbered I, II, III and IV. You 
have to decide which of the given conclusions 
logically follows from the given statement

	 49.	 Statements :
		 All dancers are singers
		N o singer is an artist
	 	 Conclusions :
	 I.	N o dancer is an artist
	 II.	 All singers are artists
	 III.	 Some artists are singers
	 IV.	 Some singers are artists
	 (1)	 Only II follows
	 (2)	 Only IV follows
	 (3)	 Only I follows
	 (4)	 Only II and III follows

	 50.	 Statements :
		 All rats are cats
		 All cats are dogs
		  Conclusions :

	 I. 	 Some dogs are rats

	 II.	 All rats are dogs

	 III.	N o cat is a dog

	 IV.	 Some dogs are cats 

	 (1)	 Only III and IV follow

	 (2)	 Only IV follows

	 (3)	 Only II, III, IV follow

	 (4)	 Only I, II, Iv  follow

	 51.	 Find the mirror image of the word 
‘gejdpsnq’ 

	 (1)	
	 (2)	
	 (3)	

	 (4)	
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j]¡SÇw°¥ :  (52 – 55) KqO SWLSt^]¤ 
kOñWLspU KLl}yV oOr]pORa 300 o}ã¡ 
va¨V h]wp]sLeV. Av]aR¾ Ye]f  
v]nLYU nTf]WwLNñv]nLY¾]¤ j]ÐOU 
300 o}ã¡ va¨O h]wp]sLeV. qyfNÍ 
v]nLYU nTf]WwLNñv]nLY¾]¤  
j]ÐOU 500 o}ã¡ W]u¨O h]wp]sLeV. 
kq}ƒewLs KLl}yV oOr]p]¤ j]ÐOU 
200 o}ã¡ W]u¨Oh]wp]sOU qyfNÍ  
v]nLY¾]¤ j]ÐOU 400 o}ã¡ va¨O  
h]wp]sOoLeV.  BUYSsp v]nLYU  
KLl}yV oOr]p]¤ j]ÐOU 200 o}ã¡ va¨Oh]
wp]sLeV  

	 52.	 JfV qºV òs°tLeV WPaOf¤ 
AWs¾]sOçfV ?

	 (1)	 kOñWLspvOU nTf]WwLNñ 
v]nLYvOU

	 (2)	 kOñWLspvOU qyfNÍ  
v]nLYvOU

	 (3)	 BUYSsp v]nLYvOU nTf]W 
wNñ v]nLYvOU

	 (4)	 kq}ƒewLspOU nTf]W wLNñ 
v]nLYvOU 

	 53.	 JfV òs°tLeV Sj¡SqXp]¤ 
ò]f] R\áOÐfV  ?

	 (1)	 nTf]WwLNñ v]nLYU, Ye]f 
v]nLYU, kq}ƒewLs

	 (2)	 kOñWLspU, Ye]fwLNñ 
v]nLYU, qyfNÍ v]nLYU

	 (3)	 kOñWLspU, BUYSsp  
v]nLYU, KLl}yV

	 (4)	 KLl}yV, Ye]fwLNñv]nLYU, 
nTf]WwLNñ v]nLYU

	 54.	 kOñWLsp¾]jOU Ye]fwLNñ 
v]nLY¾]jOU Cap]sOtt AWsU 
INf ?

	 (1)	 400 m	 (2)	 500 m

	 (3)	 350 m	 (4)	 200 m

Directions (52 – 55) : In a college, the Library 

is 300 m to the North of the office room. Maths 

Department is 300 m North of the Physics 

Department. Chemistry Department is 500 m 

East of the Physics Department. Lab is 		

200 m to the East of the office room and  

400 m North of the Chemistry Department. 

English Department is 200 m North of the 

office room.

	 52.	W hich of the two places are the 
farthest ?

	 (1)	L ibrary and Physics Department

	 (2)	L ibrary and Chemistry	  
Department

	 (3)	E nglish Department and Physics 
Department

	 (4)	L ab and Physics Department

	 53.	W hich places are in straight line ?

	 (1)	P hysics Department, maths 
Department, lab

	 (2)	L ibrary, Maths Department, 
Chemistry Department

	 (3)	L ibrary, English Department and 
Office

	 (4)	 Office, Maths Department, 
Physics Department

	 54.	W hat is the distance between the 
Library and the Maths Department ?

	 (1)	 400 m	 (2)	 500 m

	 (3)	 350 m	 (4)	 200 m
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	 55.	 kq}ƒewLs Ye]f v]nLY¾]R£ 
JfO h]wp]sLeV ?

	 (1)	 va¨V& ka]´LrV

	 (2)	 Rf¨V& ka]´LrV

	 (3)	 Rf¨V&W]u¨V

	 (4)	 va¨V&W]u¨V

j]¡SÇw°¥ :  (56-58) vRqpOç  
S\Lh|°¥ fLRufÐ]q]¨OÐ 1, 2, 3, 
4 IÐ} \]Nf°Rt Aa]òLjoL¨]
pOçvpLeV. S\Lh|¾]¤ fÐ]q]¨OÐ 
WPŸ°Rt SèxVboLp q}f]p]¤ Nkf]j]
i}Wq]¨OÐ \]NfU WRº¾OW.
       

         

   56.	 Nñ}W¥, AÚoL¡, ScLW›¡oL¡

	 57.	 ku°¥, kPvV, BÕ]¥

	 58.	 kŸ]W¥, vt¡¾OoQY°¥,	   
kP\ÿW¥

j]¡SÇw°¥ :  (59 – 61) vRqpOç  
S\Lh|°¥ fLRufÐ]q]¨OÐ Sèe]
Rp By×hoL¨]pOttfLeV.
Pψ#Q4A6F$KDØ*7N3*@NPψ8R23$J9@Q$

	 59.	 yUX|WtORapOU \]ø°tORapOU 
I¹°¥ fÚ]sOç AUwmÌU 
INf ? yUX|SpL \]ø°StL 
Bv¡¾]\ÿL¤ AfV KÐLp] 
We¨L¨]pL¤ of].

	 (1)	 7 : 6	 (2)	 7 : 9
	 (3)	 8 : 2	 (4)	 4 : 3

	 55.	 In which direction is the lab from the 

maths department ?

	 (1)	N orth-west

	 (2)	 South-west

	 (3)	 South-east

	 (4)	N orth-east

Directions : (56-58)  Questions are based on 
the following diagrams marked 1, 2, 3 and 4. 
Select the diagram that best represents the 
relationship among the items mentioned in 	
the questions.

       

         

   

	 56.	 Female, Mothers, Doctors

	 57.	 Fruit, Flower, Apple

	 58.	 Dogs, Pets, Cats

Directions : (59-61) : Questions are based on 
the following series :
Pψ#Q4A6F$KDØ*7N3*@NPψ8R23$J9@Q$

	 59.	W hat is the ratio between the 
numbers of numerals and symbols ? 
If a number or symbol occurs more 
than once it has to be counted as 
one only.

	 (1)	 7 : 6	 (2)	 7 : 9
	 (3)	 8 : 2	 (4)	 4 : 3
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	 60.	 CafO vwS¾L vsfO vwS¾L 
\]ø°¥ Dç INf Aƒq°¥ 
DºV ?

	 (1)	 5
	 (2)	 7
	 (3)	 8
	 (4)	 3

	 61.	 CafOvw¾OU vsfOvw¾OoOç 
yUX|W¥ WPŸ ]pL¤ k¾V 
vq¾¨ q}f]p]¤ INf Aƒq 
°¥ DºV ?

	 (1)	 3
	 (2)	 2
	 (3)	 4
	 (4)	 1

	 62.	 v Q ¾ L W Q f ] p L p  K q O  W t ]
òs¾]¤ A, B, C IÐ]vqORa 
òLjU \]Nf¾]¤ WLe]\ÿ]
q]¨OÐfO SkLRspLeV. Za]
WLq h ]wp]¤ vQ¾¾]R£ 
\Oãtv]R£ ¾  nLYU KLa]p 
SwxU j]¤¨OWpLReË]¤ 
fLRuÕr´]q]¨OÐvp]¤ wq]
pLp NkñLvj JfV ?

		

	

	

	 (1)	 B, C pORa Rf¨V ka]´LrV  
h]wp]sLeV.

	 (2)	 B, A pORa Rf¨V W]u¨V  
h]wp]sLeV.

	 (3)	 A, B pORa W]u¨VV h]wp]sLeV.
	 (4)	 B, A pORa va¨V W]u¨V  

h]wp]sLeV.

	 60.	H ow many letters have a symbol either 
on their left or on their right ?

	 (1)	 5

	 (2)	 7

	 (3)	 8

	 (4)	 3

	 61.	H ow many letters have numbers on 
their left and right which when added 
together make a total of 10 ?

	 (1)	 3

	 (2)	 2

	 (3)	 4

	 (4)	 1

	 62.	 The positions of A, B and C in a 

circular playground are as shown in 

the figure. They run along the circle 

in clockwise direction and stop after 

covering ¾ of the perimeter of circle. 

Now which of the following statement 

is true ?

		

	 (1)	 B is to the South-West of C

	 (2)	 B is to the South-East of A

	 (3)	 A is to the East of B	

	 (4)	 B is to the North-East of A
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Directions : (63-64) : Study the following 

figure carefully and answer the questions.

       

	 63.	 How many triangles are there in the 

figure ?

	 (1)	 14

	 (2)	 10

	 (3)	 8

	 (4)	 12

	 64.	H ow many pentagons are there ?

	 (1)	 5

	 (2)	 12

	 (3)	 10

	 (4)	 8

j]¡SÇw°¥ : fLRu RWLaO¾]q]¨OÐ 
\]NfU ojô]sL¨]p SwxU 63 oOf¤ 
64 vRqpOç S\Lh|°¥¨V D¾qU 
WRº¾OW.

        

  

	 63.	 oOWt]¤ WLeOÐ \]Nf¾]¤ 
INf Nf]SWLe°¥ DºV ?

	 (1)	 14

	 (2)	 10

	 (3)	 8

	 (4)	 12

	 64.	 oOWt]¤ WLeOÐ \]Nf¾]¤ 
INf kµnO^°¥ DºV ?

	 (1)	 5

	 (2)	 12

	 (3)	 10

	 (4)	 8
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Directions : (65 – 66) : Find the suitable figure 

for the place marked by ‘?’ if the sequence is 

continued.

	 65.	 Problem figures :

  

          	Answer figures :
  

 

         (1)	    (2)	          (3)            (4)

	 66.	 Problem figures :

		  Answer figures :

 

 

          (1)	      (2)	            (3)            (4)

j]¡SÇw°¥ : (65 – 66) S\Lh|qPk°t]
sOç \]Nf°¥ KqO Sèe]p]sLReË]¤ 
S \ L h | \ ] ø ¾ ] R £  ò L j ¾ ]
jOSpL^]¨OÐ wq]pLp \]NfU D¾q 
qPk°t]¤ j]ÐOU WRº¾OW.

	 65.	 S\Lh|qPk°¥ :

		  D¾qqPk°¥ :

        (1)	    (2)	         (3)            (4)

	 66.	 S\Lh|qPk°¥ :

		  D¾qqPk°¥ :

  

         (1)	      (2)	            (3)            (4)
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	 67.	 S\Lh|¾]¤ \]NfU (x) Rj 

fOa¡ÐV 1, 2, 3, 4 IÐ} jLsO 

\]Nf°¥ fÐ]q]¨OÐO. \]NfU 

(x) Dça¨U R\pÅ]ŸOç \]NfU 

JRfÐV WRº¾OW.

	 67.	 In the given question figure (X) is 

followed by four alternative figures 

1, 2, 3, 4 such that figure (X) is 

embedded in one of them. Trace out 

the alternative figure which contains 

Figure (X).

	

 

	 68.	 (x) IÐ \]Nf¾]Rj W|PmLWQf]
p]¤ oa¨OÐO. Af]R£ wq]
pLp qPkU fÐ]q]¨OÐ jLsV 
D¾qyP\W°t]¤ j]ÐOU f]q 
R´aO¨OW.

     

        	(1)	 A and C	 (2)	 C and D

	 (3)	 A and B	 (4)	 B and D

	 68.	 The following figure (X) is folded into 

a cube. Find the correct form of the 

cube from the four alternatives.
        

        	(1)	 A and C	 (2)	 C and D

	 (3)	 A and B	 (4)	 B and D

\]NfU
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Directions (69 – 70) : In the question figure, 

figures A and B follow a definite relationship. 

Establish the same relationship between the 

figures C and D by selecting suitable figures 

from the answer figures.

	 69.	 Question figures :

        A             B	          C                 D

		  Answer figures :

      (1)	             (2)	          (3)            (4)

	 70.	 Question figures :

	

        Answer figures :

       (1)	     (2)	          (3)              (4)

j]¡SÇw°¥ : (69 – 70) NkwÔ qPk¾]¤ 

\]Nf°¥ A pOU B pOU fÚ]¤ KqO 

mÌoOºV. C pOU D pOoLp] ASf 

mÌU vq¾¨ q}f]p]sOç \]NfU 

D¾qqPk°t]¤ j]ÐOU WRº¾OW.

	 69.	 NkwÔ \]NfU :

        A               B	           C                D

		  D¾q \]Nf°¥ : 

      (1)	             (2)	          (3)            (4)

	 70.	 NkwÔ \]NfU :

	

   		  D¾q \]Nf°¥ :

       (1)	     (2)	          (3)              (4)
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Directions (71-72) : Of the four figures given, 
three are similar in a certain manner. Choose 
the figure which is different.

	 71.	

        (1)	      (2)	           (3)            (4)

	 72.

       (1)	     (2)	          (3)             (4)

	 73.	 In the following question, figure 
(X) is followed by four alternatives. 
Which of the figures fits into figure 
(X) to form a perfect square ?

    

    Figure X     (1)	    (2)	       (3)          (4)

Directions (74 – 76) : Read the following 
information and answer the questions based 
on them :
	 1.	 The length, breadth and height of a 

rectangular piece of wood are 3 cm, 	
4 cm, and 5 cm respectively	

	 2.	 Sides with measures 5 cm × 4 cm are 
coloured white

	 3.	 Sides with measures 4 cm × 3 cm are 
coloured black

	 4.	 Sides with measures 5 cm × 3 cm are 
uncoloured

		N ow the piece is cut in such a way that 
cubes of 1 cm × 1 cm × 1 cm are made. 	

	

	

j]¡SÇwU : (71–72)\OvRa RWLaO¾]
ŸOç jLsO qPk°t]¤ oPRÐ¹U KqO 
fq¾]¤ yhQw|oLeV. v|f|ñoLp 
qPkU JfV ?

	 71.	

        (1)	      (2)	           (3)            (4)

	 72.

       (1)	     (2)	          (3)             (4)

	 73.	 \]NfU (x) Rj fOa¡ÐV jLsV \]Nf 
°¥ j¤W]p]q]¨OÐO. \]NfU x 
Rj JfO \]NfvOoLp] S\¡¾O 
v\ÿLsLeV KqO yo\fOqU kP¡¾}
Wq]¨L¢ Wu]pOW.

    

    Figure X     (1)	    (2)	       (3)          (4)
j]¡SÇw°¥ : (74-76) fÐ]ŸOç yP\
jW¥ vLp]\ÿ SwxU S\Lh|°¥¨V 
D¾qU WRº¾OW.
	 1.	 KqO \fOq ¨ŸpORa j}tU, v}f], 

RkL¨U IÐ]v pgLNWoU 3  Ry.o}. 
4 Ry.o}., 5 Ry.o}. IÐ]vpLeV.

	 2.	 5 Ry.o}. ×  4 Ry.o}. vw°¥ Rvç 
j]rU kPw]p]q]¨OÐO.

	 3.	 4 Ry.o}. ×  3 Ry.o}. vw°¥ WrO¾ 
j]rU kPw]p]q]¨OÐO. 

	 4.	 5 Ry.o}. ×  3 Ry.o}. vw°¥ j]rU  
kPw]p]Ÿ]sæ Cf]Rj 1 Ry.o}. ×  1 
Ry.o}. ×  1 Ry.o}.  vw°tOç W|PmO 
WtLp] oOr]¨OÐO.

\]NfU



M-2

Class – X	 MAT

-22-

	 74.	 qºO vwU j]rU kPw]p INf 
W|PmOWtOºV ?

	 (1)	 12

	 (2)	 8

	 (3)	 16

	 (4)	 20

	 75.	 KqO vwU j]rU kPw]p INf 
W|PmOWtOºV ?

	 (1)	 40

	 (2)	 24

	 (3)	 36

	 (4)	 42

	 76.	 KqO vwvOU j]rU kPwL¾ INf 
W|PmOWtOºV ?

	 (1)	 8

	 (2)	 10

	 (3)	 12

	 (4)	 16

j]¡SÇw°¥ : (77–78) : :: IÐ \]ø 
¾]R£ vw¾]¤ Dç kh°¥ fÚ]¤ 
KqO  mÌoOºV .  ASf mÌoOç 
kh°Rt D¾qyP\W°t]¤ j]ÐOU 
WRº¾OW.

	 77.	 CFH : IRX : : ?

	 (1)	 ACD : CIJ

	 (2)	 DEF : LOR

	 (3)	G IK : MOQ

	 (4)	 DGI : LOR

	 74.	H ow many cubes are there with two 
sides coloured ?

	 (1)	 12

	 (2)	 8

	 (3)	 16

	 (4)	 20

	 75.	H ow many cubes are there with only 
one side coloured ?

	 (1)	 40

	 (2)	 24

	 (3)	 36

	 (4)	 42

	 76.	H ow many cubes will not have any 
colour ?

	 (1)	 8

	 (2)	 10

	 (3)	 12

	 (4)	 16

Directions (77 – 78) : In the given questions 
there exists some relationship between the 
terms to the left of the sign : : . Find the correct 
pair from the alternatives which holds the same 
relationship from the options given.

	 77.	 CFH : IRX : : ?

	 (1)	 ACD : CIJ

	 (2)	 DEF : LOR

	 (3)	G IK : MOQ

	 (4)	 DGI : LOR
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	 78.	 BEGD : DONL : : ?

	 (1)	 DFHI : HLJL

	 (2)	 CFGJ : BKLN

	 (3)	 CFID : FRRL

	 (4)	 SRON : VSTN

	 79.	 KqO WæLô]¤ A^pV oOWt]¤ j]ÐOU 
BrLoR¾ rLË]sOU v]j}fV fLRu 
j]ÐOU kf]RjŸLofOoLeV. qL^O, 
A^pp]¤ j]ÐOU kf]jLsO rLËV 
fLRupOU v]j}f]¤ j]ÐOU kf]
jµV rLËV oOWt]sOoLeV. IÐL¤ 
B WæLy]¤ BRW INf SkqOºV ?

	 (1)	 52

	 (2)	 55

	 (3)	 53

	 (4)	 54

	 80.	 (4, 9, 17) IÐ yUX|LYe¾]
SjLa V  WPaOf¤ SpL^]¨OÐ 
yUX|LYeU WRº¾OW.

	 (1)	 (5, 9, 24)

	 (2)	 (8, 17, 65)

	 (3)	 (6, 12, 35)

	 (4)	 (9, 19, 78)

	 81.	 3, 4, 7, 8 IÐ} A¨°¥ DkSpL 
Y]\ÿV  A¨°¥ Bv¡¾]¨LRf 
IuOfL¢ Wu]pOÐ oPÐ¨ CqŸ 
yUX|WtORa I¹U INf ?

	 (1)	 24

	 (2)	 12

	 (3)	 15

	 (4)	 16

	 78.	 BEGD : DONL : : ?

	 (1)	 DFHI : HLJL

	 (2)	 CFGJ : BKLN

	 (3)	 CFID : FRRL

	 (4)	 SRON : VSTN

	 79.	 In a class Ajay is 6th rank from the 
top and Vineeth is 18th from the 
bottom. Raju is 14 ranks below Ajay 
and 15 ranks above Vineeth. How 
many students are there in the class ?

	 (1)	 52

	 (2)	 55

	 (3)	 53

	 (4)	 54

	 80.	 Find the set of numbers from the 
alternatives which is almost like the 
set (4, 9, 17).

	 (1)	 (5, 9, 24)

	 (2)	 (8, 17, 65)

	 (3)	 (6, 12, 35)

	 (4)	 (9, 19, 78)

	 81.	 Find the number of three digit even 
numbers that can be formed with 
the digits 3, 4, 7 and 8 if no digit is 
repeated.

	 (1)	 24

	 (2)	 12

	 (3)	 15

	 (4)	 16
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	 82.	 Reena is 4 years older than Maya. 

Sunil is 4 years younger to Suja but 

¼ times as old as Reena. If Suja is 

8 years old, find the age of Maya.

	 (1)	 20	 (2)	 18

	 (3)	 12	 (4)	 16

	 83.	P rakash bought 100 oranges for 

Rs. 360 and he found that 10 are 

rotten. At what price should he sell 

an orange in order to get Rs. 90 as 

profit ?

	 (1)	 5.2	 (2)	 5.4

	 (3)	 5.5	 (4)	 5

	 84.	W hat number should be subtracted 

from each of the numbers 23, 30, 

57 and 78 so that the reminders are 

in proportion ?

	 (1)	 4

	 (2)	 3

	 (3)	 6

	 (4)	 7

	 85.	 The sum of six consecutive odd 

numbers is 540. Then the sum of the 

smallest and the largest number is

	 (1)	 180

	 (2)	 168

	 (3)	 172

	 (4)	 196

	 82.	 r } j ,  o L p S p ¨ L ¥  j L s V 
vpôV oP¾vtLeV. yOj]s]jV 
yO^Sp¨L¥ jLsV vpôV WOrvOU 
r}jpORa ¼ vpôOoLeV. yO^pàV 
8 vpôLReË]¤ oLppORa NkLpU 
INf ?

	 (1)	 20	 (2)	 18
	 (3)	 12	 (4)	 16

	 83.	 NkWLwV 360 qPk RWLaO¾O vL°]p  
1 0 0  K L r µ O Wt ] ¤  k R ¾ ¹ U 
\}´fLp]qOÐO. KqO KLrµV IÍO 
v]s¨V v]ãL¤ AvjV 90 qPk sLnU 
W]ŸOU ?

	 (1)	 5.2	 (2)	 5.4

	 (3)	 5.5	 (4)	 5

	 84.	 (23, 30, 57, 78) IÐ} yUX|Wt]¤ 
j]ÐOU JfO yUX| WOr\ÿLsLeV  
w]ìU W]ŸOÐ yUX|W¥ AjOkLf 
¾]sLWOÐfV ?

	 (1)	 4

	 (2)	 3

	 (3)	 6

	 (4)	 7

	 85.	 fOa¡\ÿpLp BrV KãyUX|WtORa 
fOW 540. IË]¤ Avp]¤ JãvOU 
R\r]p yUX|pORapOU JãvOU 
vs]p yUX|pORapOU fOWRpNf ?

	 (1)	 180

	 (2)	 168

	 (3)	 172

	 (4)	 196
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Directions (86-88) : are based on the following 
sequence :

bdbddbbdbdbbbdbdbddbbbd

	 86.	H ow many b’s are preceded by d 
and followed by b ?

	 (1)	 2	 (2)	 3

	 (3)	 4	 (4)	 1

	 87.	H ow many b’s are preceded and 
followed by b ?

	 (1)	 3	

	 (2)	 1

	 (3)	 2

	 (4)	N one of these

	 88.	H ow many b’s are preceded by b 
and not followed by b ?

	 (1)	 3

	 (2)	 2

	 (3)	 1

	 (4)	 4

	 89.	 Find the number of dots on the face 
opposite to the face with one dot.

	

     

	 (1)	 6	 (2)	 3

	 (3)	 5	 (4)	 2

j]¡SÇw°¥ : (86 – 88) vRqpOç  
S\Lh|°¥ fLRufÐ]q]¨OÐ Sèe]
Rp Aa]òLjoL¨]pOçfLeV.

bdbddbbdbdbbbdbdbddbbbd

	 86.	 oOÐ]¤ d pOU k]¢fOa¡ÐV b pOU 
vqOÐ INf b DºV ?

	 (1)	 2	 (2)	 3

	 (3)	 4	 (4)	 1

	 87.	 oOÐ]sOU k]Ð]sOU b vqOÐ  INf 
b  DºV  ?

	 (1)	 3

	 (2)	 1

	 (3)	 2

	 (4)	 CvRpLÐOosæ

	 88.	 oOÐ]¤ b vqOÐfOU k]¢fOa¡ÐV 
b vqL¾fOoLp INf b DºV ?

	 (1)	 3

	 (2)	 2

	 (3)	 1

	 (4)	 4

	 89.	 KqO WO¾Oç oOX¾]R£ If]¡ 

vw¾Oç o OX¾]¤ INf 

WO¾OW¥ DºLp]q]¨OU ?
	

     

	 (1)	 6	 (2)	 3

	 (3)	 5	 (4)	 2
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	 90.	 In the question find out, which of the 

answer figure 1, 2, 3, 4 completes 

the figure matrix ?

      Problem figures :

       

  

		  Answer figures :

     (1)	             (2)	          (3)            (4)

Directions (91-94) : Find the correct figure 
from the answer figures if the problem figure 
continues in series.

	 91.	 Problem figures :

		  Answer figures :

     (1)	             (2)	          (3)            (4)

	 90.	 1, 2, 3, 4  IÐ} D¾q\]Nf°t]¤ 
JfLeV NkwÔ\]Nf¾]R£ RoNa]WõV 
kP¡¾}Wq]¨OÐ \]NfU ?

NkwÔ \]NfU :
       

  

D¾q \]Nf°¥ : 
 

     (1)	             (2)	          (3)            (4)

j]¡SÇw°¥ : (91 – 94) NkwÔ \]Nf¾]¤ 
fÐ]q]¨OÐ \]Nf°¥ KqO Sèe]p]
sLReË]¤ CvRp k]¢fOa¡ÐO  vqOÐ 
wq]pLp \]NfU JfV ?

	 91.	 NkwÔ\]NfU :

		  D¾q \]Nf°¥ :

     (1)	             (2)	          (3)            (4)
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	 92.	 Problem figures : 

   

 

		  Answer figures :

   

    (1)	              (2)	          (3)            (4)

	 93.	 Problem figures :

   

		  Answer figures :

   (1)	              (2)	          (3)            (4)

	 94.	 Problem figures :

        	 Answer figures :

     (1)	             (2)	          (3)            (4)

	 92.	 NkwÔ \]NfU :

   

   

      D¾q \]Nf°¥ :

   

    (1)	              (2)	          (3)            (4)

	 93.	 NkwÔ \]NfU :
   

     D¾q \]Nf°¥ :

   (1)	              (2)	          (3)            (4)

	 94.	 NkwÔ \]NfU :

          D¾q \]Nf°¥ :

     (1)	             (2)	          (3)            (4)
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Directions (95-99) : In a class, students 

are practicing four games, Football, Tennis, 

Basketball, Cricket and this is represented 

in the following diagram. Study the diagram 

carefully and find the region represented for 

each question given below.

	 95.	 The letter denoting those students 

practicing all the four games.

	 (1)	 j	 (2)	 g

	 (3)	 h	 (4)	 i

	 96.	 The letter denoting those students 

practicing tennis, cricket, football 

but not basketball.

	 (1)	 m	 (2)	 c

	 (3)	 e	 (4)	 g

	 97.	 The letter denoting those students 

practicing football but not basketball 

or cricket.

	 (1)	 k	 (2)	 b

	 (3)	 m	 (4)	 f

	j]¡SÇw°¥ : (95 – 99) KqO WæLô]Rs  
v]h|L¡À]W¥ lOa VSmL¥, RaÐ}yV, 
mLyV¨ãV SmL¥, NW]¨ãV IÐ} jLsO 
Wt]W¥ kq]w}s]¨OÐf]Rj fLRu¾Ð]
q]¨OÐ cpNYLo]¤ \]Nf}Wq]\ÿ]q]¨OÐO. 
cpNYU èÈLkP¡vÿU ojô]sL¨]pf]jO 
SwxU KLSqL S\Lh|¾]RjpOU Nkf]j]i}
Wq]¨OÐ nLYU JRfÐV WRº¾OW.

	

	 95.	 jLsO Wt]WtOU kq]w}s]¨OÐ 
WOŸ]WRt Nkf]j]i}Wq]\ÿ]q]¨OÐ 
AƒqU JfV ?

	 (1)	 j	 (2)	 g

	 (3)	 h	 (4)	 i

	 96.	 RaÐ}yV, NW]̈ ãV, lOaVSmL¥ IÐ]v 
kq]w}s]¨OÐfOU mLyV̈ ãV SmL¥ 
Wt]¨L¾fOoLp WOŸ]WRt Nkf]j]
i}Wq]\ÿ]q]¨OÐ AƒqU

	 (1)	 m	 (2)	 c

	 (3)	 e	 (4)	 g	

	 97.	 mLyV̈ ãV SmL¥, NW]¨ãV IÐ]
vpsæLRf lOaVSmL¥ kq]w}
s]¨OÐ WOŸ]W¥

	 (1)	 k	 (2)	 b

	 (3)	 m	 (4)	 f

lOaVSmL¥

NW]¨ãV

RaÐ}yV

mLyV¨ãV 
SmL¥
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	 98.	 The letter denoting those students 
practicing only football and cricket.

	 (1)	 m	 (2)	 b

	 (3)	 l	 (4)	 c

	 99.	 Students practicing neither 		
Basketball nor Tennis ?

	 (1)	U nion of region b, m, c

	 (2)	U nion of region c, e, d

	 (3)	U nion of region b, c	

	 (4)	U nion of region g, e, b

	100.	 Directions : The following 	question 
consist of a set of three figures A, B 
and C showing a sequence of folding 
a piece of paper. Figure (C) shows the 
manner in which the folded paper has 
been cut. These figures are followed 
by four answer figures from which  
you have to choose a figure which 
would resemble the unfolded form of 
figure (C). 

		  Problem figures :

		  Answer figures :

        (1)	     (2)	          (3)            (4)

	 98.	 lOaVSmLtOU NW]¨ãOU oLNfU kq]
w}s]¨OÐ WOŸ]W¥

	 (1)	 m	 (2)	 b
	 (3)	 l	 (4)	 c

	 99.	 mLyV̈ ãV mLStL RaÐ}SyL kq]
w}s]¨L¾ WOŸ]W¥ 

	 (1)	 b, m, c IÐ} nLY°tORa 		
SpLYU

	 (2)	 c,  e,  d IÐ} nLY°tORa 	
SpLYU

	 (3)	 b, c IÐ} nLY°tORa SpLYU
	 (4)	 g,  e,  b IÐ} nLY°tORa 	

SpLYU

	100.	 KqO WasLyV WxeU A,B,C 
IÐ} \]Nf°t]¤ WLe]\ÿ]
q]¨OÐfO SkLRs oa¨]p SwxU 
\]NfU C p]¤ WLe]\ÿ]q]¨OÐfO 
SkLRs WasLyV Wxe°¥ 
RvŸ]oLã]p]q]¨OÐO. fOa¡ÐV 
B WasLyV WxeU j]v¡¾]
pL¤ AfV I°Rj WLeRÕaOU 
IÐV D¾qqPk¾]¤ j]ÐV 
WRº¾OW.

		  NkwÔ \]NfU :

       D¾q \]Nf°¥ :

    (1)	              (2)	          (3)            (4)
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Space for rough work


